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= 1 5,294, 257
& OAth e RR b AL
= 1 15, 929, 250
SKFEIEX S L
= 1 4,193, 463
JRBSLERERE T
= 1 4,193, 463
I AL ER
= 1 4,193, 463
HEE
= 1 51, 120
B AR 2
= 1 18, 390
B2 (0 =1 V=) Gr-B-4E
=N
m 10 1,226 12, 260
BHFERT (REWT - 57885 LA s | 2201 akA
=N
m 10 613 6, 130
JE AT R T
= 1 32, 730
TR AR = FAESA  1OAART
B
ZN 30 1,091 32, 730
G an
= 1 15, 843, 731
RmE T
= 1 15, 843, 731
B TR
= 1 92, 539, 279
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HoOflf =%

THEXy « T - FER - 5 Mo % FREAL K B G EHAm & M| TE (B ESM)
I L
= 1 10, 335, 286
B3 TS
= 1 2,257,707
TR
= 1 129, 532
R R R 217
= 1 129, 532
BGmEsET (K30
= 1 2,128,175
HIBGERE (FE L)
= 1 8,077, 579
Wi
= 1 102, 874, 565
B
= 1 41, 791, 780
TG
= 1 144, 666, 345
— R
= 1 23, 343, 655
TS
= 1 168, 010, 000
THEBLFH Y %H
= 1 16, 801, 000
TH#&G
= 1 184, 811, 000
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